





What is a quadratic?

- Polynomial of 2nd degree

-Standard form: ~
ax®+bx+c=0

-graph is parabolic

& Soluhiens \



To Solve Quadratics
e (Quadratic Formula

e Factoring

e Graphing

e Square rooting (1f b =0)
e Completing the square
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Solve by factoring.
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X°+8x =4
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Completing the square:

-force a quadratic to become a
perfect square ftrinomial

- leading coeffecient must.be 1
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6x =4 - X°

Y hbx -4 =0 &
Xt =4
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3x2-18x+25=0
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Ox° -12x = 14

A2 + 4 =14 44
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Solve using any method:

3x+4=2x°-7
2 DI.S riminant
- AX L 3%+
ﬂ_q <23(I5
q + 83
@ doesnt
Gcf.dw‘

V\\u\\:).

15



a 2

axt+ta =0
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